
� �������	��

�������������������

���! #"�$&%(')$+*-,.*-/�,10324*5,56&78$&%(98:
; $=< >@?#A5B=9C>EDF>
;HG < A5B&9C>

980(2 ? > DF>
; A5< > ?JILK >

; > INM < ? DF>

OP��QRA5,57S*-$=0(2
T�B&T�')%($+*50(B=2U9�$V*-0(98W�,59#*-/),X6=7�BZY[*-/\%($ZY DC]
DF^`_

K ^
a1b Yc/�,578,d^[0(9de\,5$=9�'�78,5fg0321h@,F$&7�9E$&ij*-,F7k $&2l'�$=7Hh M b MVm&m&n=oqp 2 k $&2l'�$=7Hh M b MVm&m&n b *-/�,F7�,�Y�,F7�,sr n&n T@,FB&T�%3, oUt BZYueg$=24hvYc0(%3%w*-/�,F7�, G ,gB=2

k $&2l'�$=7Hh M b K=n&n&n=x

yP�!z�,8*5,57�e\0(2),�*-/�,10324*5,57H"�$&%wB&idAFB&2-"@,57�6=,52�A5,{B&iw*5/�,1T�B|Y�,57[9�,F7�0(,F9
; $=<N}

~=���
r ~
� > ~

;HG <�}
~=�=�

a ~�>w~
�E�

�P�!�d032�f�*-/�,19�')e�B&iw*5/�,19�,5780(,59�$&2�fv9H*5$+*-,.*-/�,10324*5,57H"�$&%wB&2�Yc/�0(A+/�*-/)0(9[9�')e�039E"�$&%(03f
; $=<N}

~=�=�
; M <�~5>w��~

�E�
;HG <�}

~=�=�
; > INM < ? ~

m ~
�P�!��98,c��$=A5%($='�7�032�9�,5780(,59�*-B\W�2�f��#� ����� ; n <[i�B&7

; $=<�� ; >�< _ >E�Z�|���
;HG <.� ; >�< _ %(2 ; M a >�<

M



�P�! dB=0(2-*-9.] ; M+¡CM�¡FK < bP¢ ; M�¡Fn&¡CM <{$&2�fq£ ; M�¡ M�¡Fn <Xf),8*-,578eg032�,{$gT�%3$&2�,[¤ o
; $=<X�d032�f�$
'�2�0¥*["@,5A8*-B=7EYc/�0(A+/U039[B&7H*5/�B&6=B&2�$=%w*-B�*-/),cT)%($&2),.¤ o
;HG <[�E0(2�fU$�"@,FA8*-B=7¦,F§�'�$V*-03B&2�B&i¨*-/�,�%(0(2),XT�$=9�980(2�6�*-/�78B&'�6=/ ;H© ¡�nª¡ r&<E*-/)$+*c0(9�T�,57�T�,52�f)0(A5'�%3$&7E*5B

*-/),cT)%($&2),.¤ o

« ����9�,E"@,5A8*5B&789�*5B�9�/�BZYL*-/�$V*d*-/�,[%30(2�,�¬�B&032�0(2�6¦*-/�,[e\0(f�T�B=0(2-*-9dB=iC*­Y�B�9�03f�,59dB=i@$¦*-7�03$&2�6=%(,[039dT�$&78$&%3%(,5%
*-B�*-/),[*5/�0(78f�9�0(f),�$&2�fv0(9[/�$=%(i�$&9{%(B=2�6 o

®P�°¯�/)B|Y±*5/�$+*
*5/�,\%(0(2),59c²=³ _c´ K ^ ¡ © INK ^ ¡ a I © ^gµ¶$&2)f·²=¸ _c´ M[I ^ ¡ r a ^ ¡ a K ^gµ
0(2-*-,F7�9�,FA8* b $&2)fqW�2�fv$&2�,5§l'�$+*50(B=2qB&i¨*-/),cT)%($&032�*-/�$V*�A5B=24*5$&032�9E*-/�,Fe o
¹P�!¯�B=%º"@,!*-/�,1i�B=%(%(BZYc032�6
f�0(»�,578,52-*-0($=%�,5§�')$+*-03B&2�9 o

; $=<¦>�¼�½ I ¼ _ �� ¡ ¼ ; M < _ K
;HG <d¼�½¾½¾½ I © ¼�½ _ n

�ª¿P��¯�/)B|YÀ*5/�$+*1*-/),s7�,F6&0(B=2�'�2�f�,F7�*5/�,sA5')7H"@,X¼ _ M�Á >ÂB=2Ã*-/�,�0(2-*-,57S"�$&%�Ä M�¡ <X/�$=9�0(2)W�2�0º*5,s$=7�,5$ bG '=*[*5/�$+*{*-/),c98B&%30(f�B G *5$&032�,5f G hq7�B+*5$+*50(2�6�*-/�039X78,56&03B&2�$ G B='=*X*5/�,[>¨ÅZ$VÆ#039X/�$=9XW)2�0º*5,�"@B&%3'�eg, o

K


